-5.0m

L=300m
L= 60m
L=100m
L=100m
L= 40m

L=21m
2

L=620m

A=15,000m2
1

H6

4,378

84.3%

4,378

84.3%

H20

L=284m
L=100m
L=100m
L= 40m

-5.0m L=21m
L=620m

A=15,000m2
1

L=38m

4,365
4,378

B/C=1.21

84.3%
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L=350m

H7

4,935

95.1%

4,935

95.1%

H18

L=340m

700m 350m

7,500
4,935

B/C=1.25

18

95.1%




-5.0m

-5.0m

L=70m

L=283m
L=170m
L=120m
L=150m

A=450m2

L=80m
L= 65m

L=240m

1

H6

2,942

80.9%

2,942

80.9%

H20

L=70m
L=283m
L=170m
L=120m
L=150m
L=65m

L=240m

-2.0m

3,374
2,942

B/C=1.19

80.9%

20




L=565m
L=260m
1) L=40m
L=12.5m
L=70m
1 7,339 90.0%
L=140m
-2.0m A=1,500m2
-3.0m A=2,400m2
-3.0m A=7,500m2
-3.0m L=160m H6
-3.0m L=120m
-3.0m L=124m
-3.0m L=61m
-3.0m 1
1
1
1 7,339 90.0%
L=560m
A= 360m2
A=1,000m2
A=4,000m2
A= 900m2

H19

A=7,500m2

-3.0m L=160m
-3.0m
L=120m
-3.0m
L=124m
-3.0m
L=61m
-3.0m 1
1
1

L=560m
A= 360m2

A=1,000m2
A= 900m2

6,514
7,339

B/C=1.13

90%

19




L=980m

598( 67.0%
H13

465| 57.6%
H18 133| 100.0%

L=897m

B/C=1.26

13

67%

18







